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Bridge to Algebra 2 Factoring DAY TWO WS

1 — 8: Factor the polynomial by grouping. Show all work to earn full credit. Check by FOILing.
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9 — 16: Factor the polynomial completely. Show all work for full credit. Check by FOILing. 6(:1"‘ Fl Rng
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17 — 22: Solve the equation. Show all work for full credit. Plug your answer into the original to check.

17.3%° —21§ +30=0 18.5y*~5y—30=0 192._c4 - 281c2 =0
S =
')(2°7K1"0=0 32— -lp=0 Cz(czi%\) D
(X-3)(x-3)= 0 Ca'%( +2)=0 C(c+0e £1)=0
X-9<0 £-2=0 -~ =§

1

20.9d +9=d* + d? 21.48n-3n’=0Q 22.x3+3x* = 16x + 48

O‘(o\s*d%cu -9) k. (X>+3x Ellx - 48F @
& AZ(4+B—°I§0\ +1) -lenyn =0 K?(%Kr??zxtp(>§+3\=0
0=(d*N(d+! 2 O30
- ] =gl e 2, ox -loY(x+3) =0
0= ([@+3E-3)E ) ; v - (X~5ms)=o

(xT4) 4220

o igep 48 B it U=
&5 5 = 5 Bl

. 120 (" (ctaA)(c-9)=0
\ X=5 ll:X;'zu ‘JB C“f@ c?r<‘l=2c-°l=o

-



